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PART I: ACCESS TO INFORMATION FROM WRITTEN TEXTS \‘/,’l/\,'»":
N N
(70 points) YA
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Read the article below and then answer questions 1-7. '\\‘v‘;fl"/\l\‘
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THE FUTURE OF CAR USE IN CITIES
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I Many major cities throughout the world have the same problem: millions of cars enter the
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city center each day, causing terrible traffic congestion and high levels of pollution. Some cities
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have been trying to reduce the number of cars on their streets. London, for example, has made
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its public transport system cheaper and more efficient. Moreover, people are required to pay £12
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5 each time they drive into the city center. Such measures are making a difference. Indeed, these days )
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only around 15% of those who work in the city center get there by car.
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II  Encouraged by the success of the measures in London, several other cities have begun \‘\lz'\\f\)l Z\\//
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introducing them as well. However, not all transport planners agree that they are necessary. "Recent

=77
)
e

studies have found that since the year 2000, the number of cars on the streets of many major
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10 cities has actually decreased. So has the number of people buying a car," says Brian Gilbert of the
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Pinkerton Transport Institute. "The problem of congestion will therefore disappear on its own, and
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there's no reason for cities to make any special effort to solve it."
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III  Gilbert is not surprised by the decrease in car use. "Just think of online shopping," he says. Y24 W)
"You can order almost anything, and get it delivered to your door. And, of course, thanks to the AN AANA7)
15 Internet many of us can now work from home." He also speaks of the change in attitude towards AN

owning a car. "Surveys show that young people today are less interested than their parents in )

~
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buying a car. Most of them say they prefer other transport options because they're concerned [

about the environment." T

IV While transport planners agree there is a reduction in car use, most of them believe that N/

20 the trend will not continue. "Don't forget that when young people have children, they're likely to (/<7
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decide they do want a car," says Sandra Henley of the American Center for City Planning. "They :\,'/;
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won't even feel guilty about buying one, because there are now electric cars that cause much
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less air pollution. This means that in the near future, the number of cars in city centers could
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actually increase." Henley therefore thinks cities must not assume that traffic congestion will \/r‘,,

/

25 simply vanish. Instead, they should do everything they can to deal with it.

N N -
4 Ty /5 Ty qwnn/ V= I\\( ,./‘)\“,m
A NN

'\f\;,\ XA
[N\




w
o

"a'-’ﬁ,\',’: Olowall slad) Jlea 3 WO By 4 ¢#  nYNan n»osd Nand NGy 97 nedn 5 NHHTTEE

-

-
S

'N1D72,016481°0D0 ,2 7Y .9”VN VP 1PDIN

N,
N\

”’
!.\}
PN

I =
\,’\

QUESTIONS (70 points)

Answer questions 1-7 in English, according to the article. In questions 1 and 6, circle the number
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of the correct answer. In the other questions, follow the instructions.
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1. What do we learn from paragraph 1?
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(i)  What problems are caused by high levels of pollution.
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(ii))  What effect the changes in London have had.
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(iii) Why so many people work in the center of London.
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(iv)  Why people prefer to drive to work.
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&, '
& N
2\ \
<L S
o rd
<NV YN 1IN0Y KD
21 <
AR X

\
¥
N
<N
L34
NS/
\l_\l
aNSAN
N

In paragraph I, the writer refers to the measures taken in London. Give ONE of those measures.

S/
N~
(P2
s\’
S [~
/\l‘\
)
N/
-\’
N

COMPLETE THE SENTENCE.
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Why does Gilbert think that the problem of congestion will disappear on its own? Give ONE reason.
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COMPLETE THE ANSWER.
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4. What does Gilbert explain in paragraph I1I?
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PUT A v BY THE TWO CORRECT ANSWERS.
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...... 1)  Why people like working from home.
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...... ii)  Why people today buy so many things.
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...... iii) Why people can use their cars less.
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...... iv) How young people learn about the environment.

N
N
<=
L
<
LA
~
AY)
N’
-
D\

7,
N,
3

4 N\

D
\
=
7,
/
N,

...... v)  What transport options people have.
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...... vi) How young people are different from their parents.
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(2x8=16 points)
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5.  What can we understand from lines 19-20 about most transport planners?

COMPLETE THE SENTENCE.
They think that in the future, the USe Of CarS ......cccccoviiiiiiiiii e .
(9 points)
6. What does Henley explain in paragraph IV?
(i)  Why electric cars could lead to more congestion.
(ii)) Why young people want car use to decrease.
(iii)) Why electric cars might become cheaper.

(iv) Why the opinions of transport planners have changed. (9 points)

7. How is Henley's opinion different from Gilbert's? Base your answer on paragraphs Il and IV.

COMPLETE THE SENTENCE.
Unlike Gilbert, Henley thinks that cities Should ............cociiiiiiiiii e

........................................................................... . (9 points)
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PART II: ACCESS TO INFORMATION FROM SPOKEN TEXTS (30 points)

Answer questions 8-13 according to the broadcast. In questions 8, 9, 11 and 13, circle the number of the

correct answer. In the other questions, follow the instructions. (5 points for each correct answer.)

ESPERANTO — A VERY UNUSUAL LANGUAGE

8. What does John Griffin tell listeners in his introduction?

i) When he first heard about Esperanto.

i)  Why Rachel Hayes teaches Esperanto.
iii)  What makes Esperanto special.
iv)  What most people think about Esperanto.

9. What are we told about Zamenhof?

i)  How his training helped him.

i)  Why it was hard for him to learn a foreign language.
iii) At what age he invented Esperanto.
iv)  Why he invented Esperanto.

10. Give ONE feature of Esperanto that makes it easy to learn.
ANSWER: ..ottt et et et et e e e e e e eeeeeeeeeens .
11. What did people think about Esperanto when Zamenhof introduced it?
i) They believed it wasn't as good as French or English.
ii)  They agreed it could be an international language.
iii)  They felt it should be made even simpler.
iv)  They were not sure it was really necessary.
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12. What could people find in the magazines that were written in Esperanto? Give ONE answer.
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NAVAVISL 13. What does Rachel explain about the Internet?
\,\,’/\ {67 i) How she uses it to teach Esperanto.
VTR Y ii)  How it helps people learn Esperanto.
N> iii) How it helps her find students.

/, . .
\,‘/’/\,li Y/ iv) How governments use it to teach languages.
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